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If f(z() =log,, (1 + ’f.)' then what is 4f(4) + 5f(1) - log,,2 equal to ?

(PYQ - 2019 -1)
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If f(x) = log,, (1 + x), then what is 4f(4) + 5f(1) - log,, 2 equal to ?

(PYQ - 2019 - 1)
A. O
B. 1
C. 2
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What is the value of log; log; |7 /_7\]_? ? (PYQ-2018)
"N
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What is the value of log; log-

A. 3log, 7

B. 1—3log,7

C. 1-—3log,2

D. 7
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If (0.2)* =2 and log,, 2 = 0.3010, then what is the value of x to the nearest
tenth ?

(b-a)x = 9
7ak/'w)de (% both  Sjcles y

A. -10.0 4

B. -0.5

C. -04/ {%(Dw?)k = 500?/;?
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If (0.2)* = 2 and log,,2 = 0.3010, then what is the value of x to the nearest

tenth ?

A. -10.0
B. -0.5
C. -04

D. -0.2
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If n = (2017)!, then what is {557 " Tog,n " Tog,n ' " logye,n €qualto?
(PYQ - 2018)
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If n =(2017)!, then what is + + + o+ equalto ?
log,n logzn logyn log,p17 1

A. O
B. 1
C. n/2
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If x + log,: (1 + 3*) = xlog,: 5 + log,: 12, where x is an integer,

then what is x equal to ?

A. -3
a ) “ ["07/9 (/“X) - x%{/fﬁﬂalfﬂz
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If x + log,. (1 + 3¥) = xlog,: 5 + log,: 12, where x is an integer, then what is

X equal to ?
A. -3

B. 2

C. 1
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1 H
What is the value of Dgﬁ( : ?

0g m(H )
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1 H
What is the value of Dg"‘a_ﬂ( ) ?

log m(H )
(El) ].ngﬁ(!l) (b} 1Dg[z[_‘qr (ﬂ‘B)
(C} 1Dguﬁ(aﬁq{} (d) ]-Dgcr.ﬂ (B)

ANSWER : C
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If log), x — logmu’; =2 log 10, then a possible value
of xis given by

(a) 10 (b) 1/100 v

() 1/1000 (d) None of these

(4) ; Y | . 4
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If log)y x — log, Jx =2 log, 10, then a possible value
of xis given by

(a) 10 (b) 1/100
() 1/1000 (d) None of these

ANSWER : B
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What is the value of (PYQ-2020-1)
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If x=log.(ab), y=log,(bc), z =log,(ca), then which (PYQ-2020-1)
of the following is correct?

@ o= 0
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